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I y [m] s 5’1‘ W = N =
e i TR S, T o R Y T
Kk INEE 17,449 17,449 | 11,521 11,521 28,970
: A0S T 17,449 17,449 11,521 11,521 28,970
704 | N—2E 6,530 3,501 | 10,031 | 190,351 4,095 | 194,446 204,477
SLPE INEE 201 201 9,436 9,436 9,637
Tl &k 0 1,160 1,160 1,160
EPa 0 6,276 6,276 6,276
A5 0 2,000 2,000 2,000
BERAN—F1) 201 201 0 201
LFETER | /MG 0 1 4,095 4,096 4,096
1 R 0 1 1 1
A-S-P 0 3,095 3,095 3,095
8RR AR 0 1,000 1,000 1,000
BTEL NEt 0 608 608 608
: kK 0 608 608 608
B ikoh INEE 6,530 3,300 9,830 | 180,306 180,306 190,136
AoS5wT 6,530 3,300 9,830 4,104 4,104 13,934
mHH 0| 176,202 176,202 176,202
705 |[)N—2EF 2,315 2,315 | 78,362 500 | 78,862 81,177
SLPE S INEE 2,315 2,315 | 73,807 73,807 76,122
#a 0| 39,302 39,302 39,302
) 0| 31,905 31,905 31,905
ML 0| - 2,600 2,600 2,600
S UET R 2,315 2,315 0 2,315
EEERIT | /NG 0 1,727 1,727 1,727
e o 0 1,727 1,727 1,727
{LETER | /Mt 0 764 500 1,264 1,264
FALINa-2 A 0 764 500 1,264 1,264
BT INGE 0 464 464 464
fRlk 0 464 464 464
B R NEt 0 1,600 1,600 1,600
mHH 0 1,600 1,600 1,600
7 EINBE | IN— 2 EF 0 269 269 269
BTER INGE 0 269 269 269
kK 0 269 269 269
BE1 | N—xE 30,429 | 30,429 242 242 30,671
RS INEE 30,429 | 30,429 0 30,429
AR 29,956 | - 29,956 0 29,956
TP 473 473 0 473
{LETER | /NG -0 6 6 6
15 18 0 6 6 6
BTER INGE 0 236 236 236
ek 0 236 236 236
BE2 | N—XE 2,080 | 236,655 | 238,735 1,327 1,327 240,062
RPE INEE 228,963 | 228,963 0 228,963
JRAR 95,282 | 95,282 0 95,282
Rkt 133,681 | 133,681 0 133,681
SEBRT | /NG 2,080 2,080 0 2,080
B REHAB®HE 2,080 2,080 0 2,080
fL%IER | /Nt 0 4 4 4
g , 0 4 4 4
RTEL INEE 7,692 7,692 1,323 1,323 9,015
YRRV T 7,692 7,692 0 7,692
ikl 0 1,323 1,323 1,323




